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THE ELIGIBILITY OF A KATAN

(2) RAN, COMMENTARY ON RIF MEGILLAH 13A IN RIF PAGINATION

R21°77 %12 IX?T 11707 DOWI RDY D210 0912 1w RDY MRP 225w 1PRW D L0p PERY WK 129DRY VAW 1°In7 19w 95
RRlS YRl TR

WHAT LIMITATION DOES THE RAN IMPOSE ON A KATAN GETTING AN ALIYAH? WHAT
JUSTIFICATION DOES HE OFFER FOR THAT LIMITATION?

TPY R"KW DY 71972 Q1WA AR K PWRA PP PR T0RY TWR aMIAM M9 KPR 7722 WKW 01 K1T WY 219N
79727 KT TPT 1171 PRI PR POR TP TURY AWK 01 1972°W 1127 PPNT KW M) N2 IRYW 2NN
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WHAT OTHER LIMITATION DOES THE RAN IMPOSE? WHAT IS THE BASIS FOR IT? WHY DOES IT
NOT APPLY NOWADAYS?

(3) MEIRI MEGILLAH 23A
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W IWR 70 DY ARMPT 2°0WAR 91971 725 IRMIPT 93 ROR 11920 W DIPNR QRPN 7770 ROW RNV NIPND ROX
X722 QPVEAR PRIP PO 712 ROR 277277 1K1 ROV WD N WA 0P WK M"Y ARMP 92 Iwynw XY 7aR jop
70D RO 72N IR NIV TN 10T 191 293 ARP AWK PR 1997272 13w WoY AR VAR NP 77120 TwRY 71972
17179 TNXA DIARWY 77N TINPN2 MW 1D WA ORI 720 up A"

WHAT TWO VIEWS DOES THE MEIRI PRESENT ABOUT WHEN A KATAN CAN GET AN ALIYAH?
HOW ARE THESE VIEWS SIMILAR TO THOSE OF THE RAN? HOW ARE THEY DIFFERENT?

(4) PEIRUSH HA-MISHNAYOT L’RAMBAM, MEGILLAH 4:6

SWODWT AR T DONRT DODRAT 2 TR MK ,77IN2 RNP 0P

WHAT LIMITATION DOES THE RAMBAM CITE? CAN YOU THINK OF A JUSTIFICATION FOR
DRAWING THE LINE WHERE HE DOES?

(5) RAMBAM TEFILLAH 12:17

DORIPA PIAN A2, 1I720 R YT MPR YT 0P L N20ET 7120 0197 , 112783 KPR AWK (1)
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WHAT LIMITATION, IF ANY, DOES THE RAMBAM HIMSELF IMPOSE?

THE MAJOR PROBLEM

(6) ROSH HASHANAH 29A

TN 277 22277 IR ROXIN IR - 1272 220 WKW 95 597 A7 1N 0T 22277 DR PRI PR 0P 70w wIn

WHAT PRINCIPLE DOES THIS MISHNA MENTION? WHY DOES IT POSE A PROBLEM FOR A KATAN
GETTING AN ALIYAH?

(7) MASEKHET SOFRIM 18:4

DWITW MPINY DWIM OV IR 12 1020w 97 037071 2102 23N YTIY M7 1M1 IR ORI 201 1W3INY X7 YT OX
MYT 1R DR AN N2 N2722) 77902 (VAW NRPA) NP1 AR 191 0297 w1 DPWIRD 790 IRCIP YInwh mMavn
DIV PI2 DIWA 1P AW T°IX TI2A7 1R RO TR viawh MDY 1w NwR 932 IMIR 1TR0n wIpn wha
TN DRMP MRD DAY SW R0 70 90 MIPIM 2WwI? avh 2AIN7 X7 PTA 17 1M1 INWR

WHAT DOES MASEKHET SOFRIM DESCRIBE? WHAT DOES IT IMPLY ABOUT A WOMAN’S
OBLIGATION IN TORAH READING? WOULD THE SAME LOGIC EXTEND TO A KATAN?

(8) TOSAFOT ROSH HA-SHANAH 33A

PIR Y1 (22 7 MO72) AW "R P92 17ARY T12AT TOP 13 11277 KT N2 ROXI? 120 MWIT MIATY W )
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(9) ROSH BERAKHOT 7:20
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HOW DOES THE ROSH EXPLAIN WHY A KATAN CAN GET AN ALIYAH?

(10) RI MI-LUNIL MEGILLAH 24A

JURR D172 NYAWT 12 07 27,287 YRR ROR TR 7700 IRPY 00% L17IN2 XOIP 0P

DOES THE RI MI-LUNIL AGREE OR DISAGREE WITH THE ROSH?
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(11) R" HERSCHEL SCHACHTER, NEFESH HA-RAV PP. 136-7
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HOW DOES RAV SOLOVEITCHIK EXPLAIN WHY A KATAN CAN GET AN ALIYAH EVEN THOUGH HE
ISN'T TECHNICALLY OBLIGATED IN TORAH READING? HOW IS HIS ANSWER DIFFERENT FROM
THAT OF THE ROSH?

EXPLAINING THE RESTRICTIONS

(12) LEVUSH OC 282:3

77282 RPN RY AWK [R"Y 30 7993] 2" R 2R L1021 00D TrW J0P) AWK 129K Avaw 10m? 10w 937 1977 11
77N 7120 PRY 0°10p IR 2°WI 02 YW XY DaR DRI PIn 229w 2WIR oV 4I0%T7 XP1T,MAX 7120 7191

.O2°AWwa ARXIY

HOW DOES LEVUSH EXPLAIN WHY A KATAN CAN'T GET EVERY ALIYAH? LOOK BACK AT SOURCE
#2 - DOES THE RAN OFFER A DIFFERENT REASON?
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(13) ITUREI MEGILLAH MEGILLAH 23A, P. 384
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HOW DOES THE ITUREI MEGILLAH EXPLAIN THE DIFFERENT LIMITATIONS OFFERED BY THE

RISHONIM?

HALAKHA

(14) SHULCHAN ARUKH 0C 282:3 WITH REMA

L1257 7127 "3 VLR KIPD N YN DRI TN YA LTI P YTPY 10R) TN 90N yaw Ty iy o
(0" 1) 0P X DY D7 MY N7 73 NPT TR7 DRIVER KPIT N 113}

HOW DOES THE SHULCHAN ARUKH PASKEN? HOW DOES THE REMA PASKEN?

(15) MAGEN AVRAHAM OC 282:6

>33 D°IYID 0272V 223 1""An2 1"DY WONRD RPIT 1T 191 PR D Maaa w'nT oMW awa K"ow Do w22 SnRYm
12 AT PRI MNP N DRI T3 QYWY INRDT Vawn 1) npInn awa 5"'9p oo

WHAT CUSTOM DOES THE MAGEN AVRAHAM CITE?
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(16) ARUKH HA-SHULCHAN OC 282:10
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WHAT KABBALISTIC CUSTOM DOES THE ARUKH HA-SHULCHAN MENTION?
HOW DID THE MAGEN AVRAHAM UNDERSTAND THE RIVASH? HOW DOES THE ARUKH HA-
SHULCHAN THINK THAT ONE SHOULD UNDERSTAND IT?

(17) MISHNA BERURAH 0C 282:11-14
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SUMMARIZE EACH PARAGRAPH OF THE MISHNA BERURAH
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FURTHER READING

(18) LEVUSHEI SERAD OC 282:10

12X ROTIN PRT XY KD MY KT AR RNP PWAY 2PN 1300 A9 J0p0T RN

WHAT EXPLANATION DOES LEVUSHEI SERAD OFFER? WHAT PROBLEMS CAN YOU THINK OF IN
THIS EXPLANATION?

(19) SHU”T IGROT MOSHE OC 2:72
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WHAT IS R” MOSHE FEINSTEIN’S RULING? WHAT IS HIS EXPLANATION?
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OUTLINE

Goal:

Outline:
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